


& Developing Proof Two cars of the same
madel have ixd braces ihat are identical,
voRnect to the body of the car in the same
Pace, and 1t into the same diot in the hood.
Given: T4 « VE, A = TH.RC = TIV
Complete the proof thai ihe hood braces
wumnﬂiﬂ the same anigle.
Prove: (ARC = £ BNV

Prook: It is given that the three sides of the triangles arc congrucat,
%0 AARC & AEHV by a1 This, LARC = LEHV byb. L
le 2

Developing Prool Explain how you cam use 555, SAS, ASA, or AAS with CPCTC
b 1o prove the sdsiensent rue,
7. Al = TH R:iMmeiR
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Sinkhole Swallows House

The large sinkhale 0 11 Nmm
suddenly in 1981 in “'lntrrmm“_
following a severs ' oUght Increseg
waler comsumplion |owers the wler
table. Sinkholes form when caverny g
the wnderlying lizv<+1 = dry p ang

distamoe scroad a sinkhole, The distances = - :
they measured are shown im the diagram. 3"41*1&-'-:' j
th'-hu-&muh 50 -
find the distance across the sinkhole. i
19. Developing Proof Compict this flow proof by filling in the blanks
Ghven: ¢ 1 AR, ¢ bisects ABat O, Pis o ¢
Prove: A = P te







